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module invert_tb; Imodule inverter(input a, output b);

reqg a;
wire b; assign b = ™a;

inverter UUT (.afa),.b{b)); endmodule

initial
begin

#10;
a=1'b1;
#10;
a=1'bo;
#10;
a=1'b1;
#10;

end

[ndmodule
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module oneBitFA{sb,co,x,y,ci);
input %, y, ci;
output sb, co;

assign co = (x&y) | (ci & (x"y));
assign sp = x Ty ~ ci;
endmodule
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module oneBitFullAdder{sc,co1,x1,y1,ci1);
input x1, y1, cit;
output sc, col;

(x12y1) | (ci1 & (x17y1));
1 7yl ” cit;

assign col =
assign sc =

|lendmodule

1

module twoBitFullAdder_top;
reg al1,al,b1,bB,cin;

wire s1,s0,carryln,carrylut;
integer i;

oneBitFA UUT{.x{b®),.y{b1),.ci(cin),.sb(sB),.co{carryln));
oneBitFullAdder DUT{.x1{a@®),.y1(a1),.ci1{carryln),.sc{s1),.col{carrylut));

initial begin

{a1,b1,a8,b8}; = {a1,b1,ald,b8} + 1°b1;

cin = 1'b0;
agd = 1'bo;
b8 = 1°bo;
al = 1'bo;
b1 = 1'b0;
#10;
for{i=0;i<16;i=i+1)
begin
#10;
end

end
endmodule
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module and8_tb; module and8{input a,b,c,d,e,f,g,h, output z);
reg a,b,c,d,e,f,g,h;
wire z; assign z = a &b &c &dé&e &f &g & h;

integer i;
endmodule
and8 UUT (.a{a),.b(b),.c{c),.d(d),.e{e),.fF(f),.qg{g),.h(h),.2{(2});

initial

begin

= 1'b0;
= 1'b1;
= 1'b0;
= 1'b1;
1'b0;
= 1'b1;
= 1'b1;
= 1'b0;
fFor(i=0;i<15;i=i+1)
begin
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if{i==5)

begin
{a,b,c,d,e,f,g,h}
#10;

8'b11111111;

end
else
{a,b,c.d,e,f,g,h}; = {a,b,c,d,e,f,g,h} + 1°b1;
#10;
end
end
endmodullg
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module four_one_mux_tb; Imodule four_one_mux(x,y,s);
reg [1:0] s; input [1:0] s;
reg [3:0] x; input [3:0] x;
wire y;
integer i; output y;

four_one_mux UUT(.X(X),.s(s),.y(y)); [lassign y = (x[0] & ~s[1] & ~s[0]) | (x[1] & ~s[1] & s[8]) |
(x[2] & S[1] & ~S[0]) | (x[3] & S[1] & S[0]);
initial begin

X = 4'b0000; endmodule
s = 2'b0o; [~
#o ™~
L59¢6.1 for (i:B;i<16;i:i+1) [~
begin [~
{x} = {x} + 1'b1; [~
#10; ™~
{s} = {s} + 1'b1; [~
#10; [~
end ™~
end ™~
[dndmodule ~
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